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General instructions

. Please read the given instructions carefully and adhere to them.

. All the questions are compulsory.

. This paper contains 30 questions.

. This question paper has been divided into four sections - section A,B,C and section D.

. Section A contains 15 objective questions and each question carries one mark each.

. Section B contains question 16 to question 21 and each question carries 2 marks each.
. Section C contains question 22 to 27 and each question carries 3 marks each.

. Section D contains question 28 to 30 and each question carries 5 marks each.

9. Section B and C has two questions each of internal choice. Attempt any one.

10. Section D carries three question each with an internal choice . You can attempt any question
of your choice.
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Question 1 Which of the following games get transferred from one generation to another?
a skipping rope
b cycling
¢ solving riddles
d none of the above
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Which food products can be substituted in place of meat and fish to obtain good quality protein?
a. Roots and tuber

b. Dry fruits

c. Wholegrains

d. Soya bean
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One amongst the following is not a type of income—
a. Money income

b. Imaginary income

c. Direct income

d. All of the above

9T 4 fhstaTe Jeuta &1 faerd et 7 & forass ganT fomam arm

& Sfiet TaTet

G B

T ATREAT ATCEN

T glelih

Who amongst the following developed the kindergarten system of teaching
a Jean Piaget

b. Froeble

c. Maria Montessori

d. Hurlock
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Which kind of work should be prioritized while framing a time plan for oneself.
a. Urgent work

b. Voluntary work

c. Work for entertainment purpose

d. Religious work
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This stage of sexual development obtained in adolescence can be termed as—
a explosion

b. Puberty

C. Maturity

d. All of the above
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The ratio of head to body in early childhood is .
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Food that does not get spoiled easily is called
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Gum is used to bring stiffness to fabric?
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Animal products are a good source of which food nutrient?

92T 11 H W R F fefthal T ST fordg IapR Y 3T Sl &7 adieT &

Carrying your tiffin to your workplace from your home is a way to increase what type of income?
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Name any two Grease absorbents.
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Assertion (A) : extra supplement of calcium in a lactating mother is very important
Reason ( R) : supplement of calcium in the lactating mother reduces the chances of the baby
utilising calcium from deposits in the mother's bone .

a. Both assertion( A) and reason ( R) are correct and the reason is the correct explanation

of the assertion

b. Both assertion( A) and reason( R) are correct but the reason is not the correct
explanation of the assertion
Assertion( A) is correct but the reason( R) is incorrect
d. Assertion( A) is incorrect but the reason( R) is correct

13

ReT 14 HTHFHYA (A) : FreiRTaEAT FT JohleT 3R dera i 3rafer AT STl §
HROT (R ) : ohiRreear & gRie dara 3R FRar gagd afiRes, siasicas AR amarfss
IR & HROT I ¢ |

fAhea—

& AfFFRYA( A) 3R FROT(R) ST Ter & AR FROT 31HRUT HT Fel SAT&AqT &

G fAFYT (A) 3R FROT (R) Sl el & eAfehed HROT HTHGHUA T Tel cATEAT 76l
a1 31fAFUA (A) TEY § Afhd HROT (R) Tl B

T ATASRY(A) ITeld g olfched HROT ® el g

Assertion (A) : Adolescence is also considered as period of storm and stress.
Reason ( R ) : stress during adolescence mostly arises from physical emotional and social
changes in the adolescent.
a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion
b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion
c. Assertion (A) is correct but the reason(R) is incorrect
d. Assertion (A) is incorrect but the reason ( R) is correct.
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Assertion (A) : washing clothes is a work which is included in less labour category
Reason ( R) : Any task that requires an additional energy expenditure of 50% per person in an
hour can be labelled as hard labour work.



a. Assertion (A) and reason (R) both are correct and the reason is the correct explanation
of the assertion

b. Assertion (A) and reason (R) both are correct but the reason is not the correct
explanation of the assertion

c. Assertion ( A) is correct but the reason(R) is incorrect

d. Assertion (A) is incorrect but the reason ( R ) is correct.
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Define play
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Why do majority of Indians depend on pulses to meet there protein requirements
OR
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What do you mean by finishing agents ?
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List some sources of monetary income in a family.
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List two precautions to be kept in mind while storing your woolen blazers.
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What do you understand by the term adulteration?
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Explain briefly how the climatic conditions of a place affect meal planning.
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Name one grease solvent and one grease absorbent used in the process of dry cleaning.
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Briefly explain any six qualities of games played by children.
OR
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What do you understand by the term growth spurt? How does it occur differently in adolescent
boys and adolescent girls?
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What does ISI mark stand for and who gives ISI mark and why?
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List down any three effective ways to implement work simplification in your kitchen.
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Which two food products are commonly adulterated with maternal yellow and how is it harmful
for our health?
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Your favourite dress has been stained with the following

e Blood stain

e Ballpoint pen stain

e Lipstick stain
which method would you use to remove these stains?
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Mention any three disadvantages that a consumer has to put up with every time he or she
experiences adulteration.
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Suggest a few ways to increase monetary income of a family.
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What rules pertaining to personal cleanliness would you follow while preparing meal for your
family?
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Mention a few precautions that should be taken to ensure safety in the kitchen.
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List down a few behavioral problems of children and also suggest ways to tackle them.
OR
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What are the main factors that affect work simplification? Explain with proper examples.
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Which five principles of meal planning would you pay special attention to while planning meal
for your family?

OR
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Mention in detail any five problems that you have ever faced as a consumer.




